ardlas Ava

Qe IX | dd ardl@s Avaiddl gFRaml A3y s 2 din 288 Avadl qofl. 210 usau
Ul drdlds Avai-l 2ul ag wvlleg, 2wuSl @ewdt 1.2 2 1.3 4l 4 yisi ol o
HoledeL s, Yl5asl ool WEAR A sl Hoed unuel wier 539

lsaddl euor wlal’ qm o said © 3, dd yRisidl [oneddl A 565 2eld 8. A
@Ml selol dl siS uel aq yails g 4 ofle 1S A yRils b ad cudtami 2d, dl e 4N afl
A d b sl il Sl bl il el vediul seia cwousiRa acifas aiell uEul
a3 wavidl edl. A 5, 2L uRend vior o audiEl saldl A AHw wsd, 9dl yeiisisl
[Actiodcidl el 2qoitl dsil B8l ot GUARLL B, HUBL duidl 32dlst A4 e d-l Gudlal
Woyd 6 8l YRUSIAL OLAULA, (OL2dH AHIL 2Adud, HCF 284l GCD) 2lial W2 5319,

A WRAHL HEARAAL YOG UHAHD Ut YRSl dRusR-L did 2d 9. d¥d el 8L 3,
g5 (Ao yalsa iAo yaisidl apusik ddly vy Ad saldl a5, 2 2ol R i
2isuldidd Hacid uHd ©. 0 uReud Al saldl A ameadl wsE. 2ud visolRias
HOed UHAAL 6L Addly Gudlal sl d-l AlBlddl &AL Sedls viot % Gl s <liHulal

1.1 wedlas

LN

GUALOLL 9. dd HIREL IX Hi 2AeqAd 41 8 5, V2, 3 2 5wl vell okl qvaivia vHuy
AUBLA 50l 2L UHU QUYL 9.
6{l%, i MAAAL GuAlaL, ARU vl £ (g = 0) ] salial wAMAlFd 202 Al U A SR
q
rid g GlA d AL Ad B, UL HZ 20Ul £ Al B8 g Al Ao vaudl U gfeud s3st

q

el dd AL 3, ¢ | vlacuod saudiml maudlsa £l eaia vildealsaqd dyd azu sl 52 8.
q

2], A1l 2R [Rlael glal el WL 53,



aldd

1.2 ylsasd ®usRd yaud

13 saldd dls sl Qanla, -

2l AWl 22dl u 96 A2l 28l edl. ¥l WA 56 o 514 A ed Adl As U HLY 4 A
A G5 gl Gl ol 2 dArf uRBUM dsAML wu, A8l Seirdl Al Bl dldl 2t el
uz uesldl, S¢i qdl ol Awidl uaad wd okl @A Udl vy ald wadl qiai sl Y
Hulddl sai. YA YRl 3 bedi S50 ddl oui e A8l i UG ogelier 2l :

A 31 A-i- AUSHL dLRLUHL 20 dL, s 5§ TE Y,
A 3 ArL-staL AUSHL dRUHL 20 dl, 6L $3i ousl 21
oA 93 AR-Al2-L AUSHL ARAHL 209, dl, AR $3i oudl 28;
§313 uia-viz-l AUSHL ARAUHL 21d dl, AR $3i ous 21,

$3i £9-¢911 AHSHL ARAUHL 219 dl, uin $3i ous 21,

A 531 Ald-Ald-l AUSHL ARAHL 219 dL, 51 &s; onél A 8.

w3l Auelsi 150 el gy Ssi S a3 Al dld Suelmi 3eai S8 oedi? el Audl Sud
Giaal R s A 5 Ssiddl Aval g odl. amadl sl udal A dl e 8 3, o -l Bud 150 3
agl gl .

B Seirl Ald-Aldell Ayl ORI sTB dl 56 % eugl AR, dsll 555 wsls vl p
W2, a="Tp+0dad saldl as.

B §sil 9-£9etl Al Lt 5303 dll, uia S¢i 15l 28, NS5 UM AvAL g WS, a=6g + 5

A el in-uiadl e ol s3I dl, AR Gei eudl 2. Al 885 uislas Aval w e,
a=5w+4

B Ssivil A-AAl wHeHi dABLATL sTBL dl, o8l Ssi gl . Aell, 55 wisls AL s MR,
a=4s+3 a3 suldl uas.

B Seiedl stolotal Aol Bl sAA dl, 6 S eusl e, vl S gl Aval 1 W2,
a=73r+2 a3 saldl as.

B Gsivl Q-G AUl eIl sTB dl, s 6f sl 2@, addl, A5 Wwskis WAl u W2,
a=2u+1 a3 saldl as.

g5 (Baatlil, »Uudl 2hd g -l 8- yails b (uel 20 Geleril b <l Bad sfis 2d 7, 6,
5,4, 3 2 2 €9.) A3 GUAUSIR WM €9 A AN 7 A8 9. (2uuRlL 2 BelgRHL 7 -l Brd sMs dd
0,5, 4,3,2 v 1 9.) 2 AN » sl 208l O, U2 20U 2l AHsweU dvilat ¢l 3
U A 1 1HE 20l ysasd eousid yd udy il €l

ST UUBL 2UUBRLL 51Ul dRS BOuL. duA SIS vl A 9 5, 2uBl d 5ql d B3l aslai?

-~

gl, 2 ol o Rl AMELA 52 dal 7 AL o 2llHdl OB Udet A o vl (a.aLtAl

N

%
%

-~

A5l BUAL $dl) dHA deil WA 119 S8 edl ddl Hldl Holl as.
Y54l @USIRAL Yd UHUHAL URAY Aoddl 2, <A it yaisiq you R,

17, 6: 5, 12; 20, 4

* 2L . AU 24 2L gRL [AbA “Numeracy Counts!” Ml WU SIH8L, AHRE 23U 6.
2



aldlds dvaiiy

M dl

-
UHY

L SHL saledl MMIBL, U g5 Yo 422 <{lA uadl 2deln sauidl asla

17=6x2+5 (17 4L 6 6L avid €9 24 5 Ay a8 €9.)
5=12x0+5 (12 21 5 <l M2l lanel i Aol 204 «9l.)
20=4x5+0 (4] 4 AL ui 2Rl 20 A i 595 % AN+ af.)

et YRS @ Aol b Al UALS Yo W2, HUuRLA 1AL Aoi8A AN, del Yl 1l g 2 7 HA 9,
a=bg+r,0<r<b

8L A2 5, g 2l 7 L wRL ELS A, (Uig oid uE g -l8.)

s 13 saldd te YRS g 2 b AL 404 W2 d¥ YUSL g A 7 Al Ut 53 Asil?

(i) 10, 3 (ii) 4, 19 (iii) 81, 3

A AL S g oA 7 AU B A 07 < b MR @ = bg + 7 <L AHHUIA 52l S14 Al YRilsi-l s 1t

CRRIR

N

a2l oyl wel 25 ¢l 3 udl cousiedl % aioll UL aiel sadl e Wla dsg
Yot Adl 2A30 YA O A AUl 2L YRS ¢ 2 7 A S MHIISA 2 AN 58 D,
UL 2L uRRIHA HUAURS Fd 1AL @3uHL AL [k 2a30 481 aslal

: 1.1 (4f5add MwusIRd YatuRu) @ 2ukd 4 Yisl a A b A Hold 2t g9 YRS
q A r Al Ha 3 %&?a=bq+r,0$r<b.

A g A B, g g dal r oA A geu el 2 uReus ajol amudl wAld 9. uig

a-ll uan avid -in Y548 (Euclid)<] Elements Book-VII ¥ S edl. ylsas-l cuomlala
(Euclid’s division algorithm) Y\ 4a-URy U2 204Rd 8.

The
the

An algorithm is a series of well defined steps
which gives a procedure for solving a type of
problem.

al-Khwarizmi. In fact, even the word ‘algebra’
is derived from a book, he wrote, called Hisab
al-jabr w’al-muqabala.

A lemma is a proven statement used for proving
another statement.

word algorithm comes from the name of
9th century Persian mathematician

Muhammad ibn Musa al-Khwarizmi
(C.E. 780 - C.E.850)

[

yalisl

UL

ylsasdl aor-ulal 2 wutal o g yaisidl oL alal ekl kB 9. g ad uq
a A b oid (Ao $d ddl Hiewl M2t yals d 3oag 2 b <Al LU, B,

ALl 2UuEl MAH s Gelgl gl i ulARAL Guadlal ol dd s sy O d B, WA S
6L YRSl 455 A 42 <l oLl ladl 8 dl 2uudl Hiel yals 455 ol uzsid sAg. AR

ouge d-fl Guz Ul ylsersed yd uHy Al



aldd

455 =42 x 10 + 35
g 2B 6UYs 42 A oo did aS A 35 A4 ouws dd dsd elonsRAL Yyd uHuAL
Guadl s34 dl,
42 =35 x 1+ 7 ¥4
gl o5 35 A Mot did A 2 7 A eles did dda elonsiReAL yd uHAHAL GUAldL i,
35=7 x5+ 0.

UL Al 5, AM 9wt MO D i ed 20u8L UBUL 20100 Al 5T AsdL L dolsE ULl
2q, Felaics Ad sélal €l 3 455 2 42 AL LALLM T A, di 455 e 42 <L HHaudl-l wiEl
oilelld A0l i AsRl AL Ol 2L ugl 3 FEads 97 il gaol A uReus Gurdl
SRR

sd, 2wl ulsas-l cuomlald eyl ealdl asla.

¢ >d ¢ld dal o 4 yQlsl ¢ e d Al AL, Haqar e -ld-i dlvis €
AW 12 Y54 MUoUSIR YA-UHUAL ¢ 2 d GUR GUAloL sl R c =dg + 7, 0 <7 < d

21y, dcl Yol AvaIl g 4 r HAL
AN 2 29 7= 0, dld 2 ¢ A d =il AL, U,
A r #0,dl dad r A ®RUsIR Yd-uHd asudla,
AW 3 o UBUL ol AHL M 0 A i Ul L A ABL AL dolgs R AN YA oA AR
LS B HIdlE OLAULM. U
2L ulalfEal wReum Mo 9 S8 5 A UL, (¢, d) = dLAL. (d, 7).
AALA. (¢, d) M ¢ wA d -l AL sald B, AR,
Gesael 1 : ylsasHl euor-ulald-dl Gualal 530 4052 244 12576 «lL oLl 2l
B34 :
AL 1 212576 > 4052 @lelel clousizeAl yd M-l Gudlol 12576 24 4052 GUR s,
12576 = 4052 x 3 + 420
AL 2 29N 420 9-ddR dlanel Miotsiedl Yd uHUHL GuAloL 4052 24 420 GuR SR,
4052 =420 x 9 + 272
AWM 3 colxs 4209 dal oo dl3 2 Ad 272 A Adl eues ddd Adl A @ousiReL
YauHUAL GuyloL s,
420 =272 x 1 + 148
g UG AAdl GUY 272 M Adl GlLYs 148 ASHL e GlRLLSIRAL YAUHAAL GuAldL 5T, dl
272 =148 x 1 + 124
g Adl Mo 148 i Adl M1%s AN 124 Adl i @IRUSIRAL YAUHU-AL GUElRL SR,
148 =124 x 1 + 24
AAdl Gl 124 i AAdl 6llys 24 Adl 2 ®RLSIRAL YAuHUAL GUAIRL S,
124 =24 x5+ 4
AAdl Gl 24 A Adl M1%5 4 Adl 2 GRLSIRAL YAURUAL GUAIRL S,

24=4x6+0
4



aldlds dvaiiy

AN gd gt ol 9, 2l wugl uBUL Mes O, 2L doiss euws 4 dlaEl, 12576 i 4052+
ALY, 4 UL,

24, 4)
124, 24)
= oLuL. (148, 124)

2Rl A2 5 4 = oLt (
(
(
= o L. (272, 148)
(
(
(

= AL,

420, 272)
4052, 420)

12576, 4052).

ylsasedl aomlal 3 vot o HIdl Availdl LALLM, Haddl Hie % Gualdll 9, ved o g
Uid d 5eel MM ddIR 5L el AALREM (MIAR)HL viot o A3vld-Al Gelswlivl s

o

= JL AL
= JL UL

= JL AL

(29)

NN . N N . N N N NN

sl AlHlo 5 ol YHL AW 0 A ol Al YL €25 dolss cls B Adl MU ot © i AN
Aol GUYSs oA 9. AN YL o o dotss el oUgs B AUUG AvABLAL ALALMA, 8.
q

Y54l GRUSIR YAUHY A eafAf vl o msel wisollon w1 wgdal dlal dist

IR GUOUSIRAL YAUHUA UL GRS AR sl dl.

- P 2

2. aoll, ylzasHl ool [ Ho a yaiist w2 o 54 8, 9di A b # 0 €l ddl el
9z st Yl [l s, os ool wEBAL 2wl 220 20u8 el R s
AvapiiAL ol dodal W2 ylsasdl eomfaliar seals Guaioll 9. gl il Gualelial Seals

Belewll el 2yl

d NN

Belsaml 2 ¢ saldl 5 g5 Yoy a yals 3 5155 yails ¢ W2, 2¢ AZUHL Sl AR 835 Y U

yeils 5155 yalls g 12, 2¢ + 1, ¥3UHL Sl

B5& : R 3 g 515 A yals © A b= 2. dl,

Y(se il atoL Al AR SIS YA g2 02 a=2g +r2t r=02adlr=1,5RA 50 <7 <2,

HI2, a = 2q ¥4l 2¢q + 1.

AN a=2q, dl a3 2dd [t 8 A g A YU YRS 58 8.

Na=2q+1d av2ad Qe e da g 2 a3 euatdl 1 9N all 8§, i vails a A

2§04 Yalls 58 8.

A a3 2¢ Al WAL S dl @ 4ox yals 8. aoll S5 uel de yails you padl 2wy §iS ul.

W2 SIS uBL YoYU yails B 2g + 1 A3uul S,

BElSRQL 3 @ galdl & 5165 uRL 2o 4t Yails 2 5195 YRUls g W2 4g + 1 2Hadl 4g + 3, AZUHL S,

B3 : AL U8 YoM Ut Yauls g adH. Ul Yals g x1a b = 4 w2 sl Gualol s,
0<r<4, gl daldd au 0, 1, 2 24 3 A,

5



aldd

219l, ¢ A GUASN Adl, a ¥ 4q, U4l 4g + 1, 84l 4g + 2, A4l 4g + 3.
A 5 axyou gluel a A 4g Al 4g + 2 4 SIS A5, (512 5 old 2 a3 [Aeuad 8.)
W2, 515 uRL 2404 s i 4g + 1 Al 4g + 3 AUl S
Gels2el 4 @ s MlalSanl WA 420 oL 51% 6181 A 130 oL oleid oRsl 9. d dl Ad i
o25l2lA 4wl 23U Olsddl HIdL 9 5 £35 AWIHL 618l AvUL AMIA S1A A d dAlASHL BL9ML
Sl UL UG, 2L S, Hle 25 Anlnl Sedl Avauul 68l Avidl A ?
B5a @ Ul G3A Hue A o gL Hadl asd uig A oullas Ad sal W2 el
AL, (420, 130) el WS i AL, £25 AWMl WA 681l HedH Aval Ay e
Auflaiiedl Avdl uel qgdy Ay, el diASHL AURAAG UL URL dEdH UL,
g dril LALLM, 2ldal Hie Ylses ulalEHdl Gualal s,
420 = 130 x 3 + 30
130 = 30 x4 + 10
30 =10x3+0

el 420 24 130 ~iL 2L, 10 U,

Y2 d Hlaai e3s auwlmi 515wl szl csl-Hl Avar 10 Avil a3,
AlH eds gl oSl AL AvAL d S, dL 420 dal 130 ol d a3 [Qeuad 9. aulaiidl

420 130 ~ ~

vl == Al S Urdd Gl dl, UASHL B Al ol S B M2 d HeTH €ld d

lagds 9. 2l d = UL, (420, 130).

A 1.1
1. yfsasHl enomfal-dl Gualol s3 oLt il
(i) 135 244 225 (i) 196 A1 38220  (iii) 867 i 255

2. ealdl 3 515 uel 2o b yails vl 5185 Yails g W2 6g + 1, Adl 6g + 3, Al 6 + 5
usi-l S as.

3. s A 616 Ul A desell Glwdrll 32 ACAIL ueon s s3I 2w O, bid gU AN
AvALAL oMl 52 530 WL B, d % AeMl A 53 WL B ddl SIS UBL AGML HeTH Sedl
AL ¢ ?

4. yfgasHdl euamfafdl Guaol 30 ealdl 5 SIS uel 44 yaisdl asl 5155 yals m w2 3m
¢l 3m + 1 AIUHL Sl
[MA : AR5 x S5 e yals © dl d 3g, 3¢ + 1 2Edl 3¢ + 2 a3udl €. ¢d g5l adl
53 24 galdl 3 s30el A 3m 2dl 3m + 1 @3uHl @il asid.]

5. ylsesd cwousiad ydudd alA ealdl 35S uel 4 yailsdl as 9m, 9m + 1 aal
9m + 8 J3U~L SN,

1.3 isRdd HOuHd AU

RUGBAL HIRCIML di g © 5 1S usl Mgls Avald d-l HlAeuzd audiql oRusi 34 avil

AU, BeleRll dls, 2 =2,4 =2 x 2,253 = 11 x 23, 2t 2L UHIEL 242100 94l A5,

gd, 2UuRl wuslas Availe ol wRf Al wact sA2L SIS uRL wglas Aval Aldeus Avdlin

6



aldlds dvaiiy

istRel Handfl wsd? ALl UL BB, AT ArAUAL SIS UBL AR dl. BelsR dils, 2,
3,7, 11 24 23, uusl sedls tadl ol o Avaiiidl oRustz 53020 i 2usl Sl dedl avid
Al yrdde s2ail e 2udlal dl 2l agloll AvaH e yRiisl Aadl aglal, (wAvR dl, Hed
AvyaAl) ALl UL seels ALl ot

7 x 11 x23=1771

3 x7x11x23=5313

2x3x7x11 x23=10626

2% x 3 x 77 = 8232

2% %3 x 7 x 11 x 23 = 21252 49 4L Uwidl...

gd, 4Rl 5 dHIRL AR AvAIBAL AHSHL ol o Asd AU AL dadBl dl i
AHSL 58 S2d A A MR dHIR 9 M B2 o dHl Wl Flad dvasl o yaiist ¢d ? vl
rid AvAHL Yaisl ¢A? vAWR dl vidd dvami wtlacusd vzl 9. wuel, %l sl ol o
w[Aeod A 2L d Alsollat dl, odl o 2laened vl sid oHl o vlAeed qvailidl
AL s ORUSIRL AS 2UURL Heid AvAUAL w3y Hadl asglal ug 39 5 Ul ol o
[ouod qvaail 2 Ad Hadl asla? du o (@Rl 917 dd @Rl O 5 % stlaeusd vl
ALl ARSI L Sl ddll SIS [Aouo Aval seld ¢ ? 2UuRl B 2UdlA d uddl, Aldl sl d-

yalsid vaydlsel s3A3. 2t 208 ¥ 54 8 d-iel Gladl uBul s

N Y

A8 ddA URRIA al viadd ga-dl Gualdl s ALl 2u8l SIS HIZL AvaL ds gH
32,760 i U201 el UHIRL Hadd Wt ¢

32760

2 16380

2 8190

2 4095

3 1365

3 455




aldd

el 2Bl 32760 24 2 x 2 x 2 x 3 x 3 x 5 x 7 x 13 %dl 2Alacuad dvasdi-l oRusik 3u
wal, .

gl 32760 = 23 x 32 x 5 x 7 x 13 < A0 dvdliidl did-l ousik 3u saldl wsi.
ALl 248l 6l vl 123456789 As{lL. d-l 32 x 3803 x 3607 dzls dvil Asld. WUR dl duIR
wdlatel 529 ASH 5 3803 24 3607 2Aldcurd Avail 9! (Al ad ollw sedls wglas dvai
HiZ2 ydlael 52U) L dd e dl kel ds el i 9 5 elds [Aeued Avdld Aoy
AvLlinl Bl oLRUsIR 23U @vil asi. VRVR dl L [ A B, yaisial veud W2 d-l
wasll Maias efise sl d 2isol8dd HamMd uHY 58 B,

Al UL 8 2L UHUA vuARS D sl

WA 1.2 (2R HOMd WHA) ;g5 [Aeuay Hvaid, du HqAdldl sHA a8
2lacuay vl sk dls 2y 2d qvil asiy .

An equivalent version of Theorem 1.2 was probably first
recorded as Proposition 14 of Book IX in Euclid’s
Elements, before it came to be known as the
Fundamental Theorem of Arithmetic. However, the first
correct proof was given by Carl Friedrich Gauss in his
Disquisitiones Arithmeticae. Carl Friedrich Gauss is
often referred to as the ‘Prince of Mathematicians’ and is

considered one of the three greatest mathematicians of all

time, along with Archimedes and Newton. He has made Carl Friedrich Gauss

fundamental contributions to both mathematics and science. (C.E.1777 — C.E.1855)

ol HaMd udy eald © 3, €35 [Acuwd Avuid wlAcumd AvaApiicl ARSI 2A3Y
audlsel 53 wsid. $Slsaui d 565 Ay edld 9. d sald B 3 uud SIS u [@euo Avale dsl
AAUAAL sHA AAR(A QOGN AvASAAL JRUSR dlE i 2d [3ust 3 asiA.

2 uel e S5 we [Qeuo vain wfacued AvapiiAL RIS ddld s Fd ealdl
ASA 2 AUl 59 Ao Aval sUL sH HAL d W ULl AU AL LS Asla Gelsal dls
ARUSIRHL aldd AvAL 2 x 3 x 5 x 7 A 3 x 5 x 7 x 2 dld waal olw S uw sy
suul galda 2 e AvAbi duilal dl d el RIS WA B, AL eslsdn A 2a3d
wel ealdl asi.

1 9 #12) 5165 uw wuslas vy 2#QAeUrd AaddIH] AU Al $H HQAKA dl 247
Sld 9.

aus dd, 2id [Aened Avdl x 4 2l x = p, p, ... p dils avil wsly, @l p, p,, . p,
S Qeusd AL O A Addl sHHL avidl ©, ved 5 p < p, < . < p .o BUUSL AMIA
lacio Avdipiin oRila, dl Ut Al AvAl-lL dld 1oL Belgel dils,

32760 =2 x 2 x2 x3x3x5x7x13=23%x32x5x7x13

25 quid UL 55l 532 5, L0 HAUAL Addl $HHUL 9 dl UL AAUALE8L A ¢,

8
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AMAHL il oflogt &AHL iRl HOMd UHUAL s GUAL O, ALl U8l S2dis
BelgReIl A5,
Belg2BL 5 ¢ 5155 U Youls 7 W2 47 <l Decdl 25 Yd ¢l 3 34 d [Fely s
B5E : %l SIS uRL Hel Yells n M2 AvAL 47 AL Ocdl 25 g Sld, dl d 5 Ay Ao €. vl 47
Al AU AAUAML 5 lell BSB. 2L AsA Al S18L 5 47 = (2)2; Yl 47 Al vaudlseml
s o fAcuod yails 2 wo. el 2isRdnl Haed UHAL AAAdL DA AR A5l AU B 5

-~

47 AL saydlsaHl 2 Ra olw 515 wlaeury Aval Al we s wslas qval novidl 4 ua 3
el Wi 47 Al ilaH s Ld S,

UGHL HIRRIHL A ARl HOod UL e d Gedvt sal QR 6L 4 yaisi-l
ARl AT A.ALA. (4YdH AHIU 2qud, LCM, Least Common Multiple) 04l 2wl o
9L i vgla vacuora Aaudlsnl uglt dly uel 2hneud 9, Aldl 20Ul 24l Ugldd Gelswl glrl
ule s3I,

Belg28L 6« wH[Acurd xaudlsl ugladl 6 i 20 L ALAULAN. el AL WAL

Bia : Ul WA 6 =2 x 312, 20 =2 x 2 x 5 =22 x 5! gy,

PUGHL HRBIHL AL 8 dH dH LALA. (6, 20) = 2 i AU (6, 20) =2 x 2 x 3 x 5 =60
Hadl sl

%L 3, AL (6,20) = 2! = UL AvARIHL WAL AHY A[QAGUPA HAUAAL AL
AL BldlsAUNE UELDL dpRustR

QALY (6,20) =22 x 31 x 51 = Ul AvAUHI WAL dHIH [AGUPA AL HSTIH
BldisAol UELAL dpRusIR

BURrlL BELSUHL dH Y €2 5 OLALA. (6, 20) x AAL. (6, 20) = 6 x 20.

BV dl UL A5 AL 5 SIS weL 6 U yalsl, a A b HIR

AALA. (a, b) X QAL (a, b) = a X b A,

A 6L et YRUSIHL OLALAL HUA Sl dl UusL 1 uRBIHHAL Guaial 530 el @t il sl

BELERBL 7 ¢ 96 2ix 404 ~il LALLM, lAcurd vadd-l d HAdl 24 d well d-l d.uLt. 2L

B354 : 96 Ul 404 < AlAcuedHL Haudls@ 96 = 25 x 3, 404 = 22 x 101 HA4L.

el 2L ol YRISIHL QAL = 22 = 4,

96 > 404 96 x 404
AL (96, 404) 4

aull, d.AL21. (96, 404) = = 9696

GelseL 8 : Aoy vaydisl gl 6, 72 2 120 <l LA, 2 AL AL,
B5a : uull Wi,
6=2x3,72=23%x32120=2x3 x5

-~

], A AUl SgsH 2 2 3 oAl Al el s 2! 2 31 6.

9
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el oL (6,72, 120) =2 x3'=2x3 =6
UL SR AVURAHL 23, 32 24, 51 2 w[AcUA Ayl 2, 3 24 5 L Hiewl {1l sid 9.
w1, @Al (6, 72, 120) = 2° x 32 x 5! =360
A4z oAl 3, 6 x 72 x 120 # 3LALAL. (6, 72, 120) x @l (6, 72, 120).
Ul AR ALABAAL ORUSIR dAHrAL LA, 2 AALVLAL ARUSIRA AHIA L UL €Y,
AU 1.2
1 <Al g3 20vun del Alacuwd Haddi-l dRusiR €30 galdl :
(i) 140 (i) 156 (iii) 3825 (iv) 5005 (v) 7429
2. A 2ud yaisidl Al oLALL A AL, WL 2
QALY X AALM. = ol YRSl RISl Ald B dx AL
(i) 26 1 91 (i) 510 21 92 (iii) 336 i 54
3. A 2uta yalsin ARcue Had-dl Ad AL, A dAL. AL
(i) 12, 15 2421 (i) 17,23 2429 (iii) 8, 9 i 25
A ALALM. (306, 657) = 9 A G4, dl d.UL. (306, 657) Al
5165 wiglas Aval 7 W 67 AL ilan 2is g 5 Ale d Asl.

AHAAL S 7 X 11 x 134+ 13 A7 x 6 x5 x4 x3x2x1+52 9 U [Qeuwy qvaill © 7

A

5 WAl HeldHl aduusiz Mol 9. ARAA dd 25 uRema yel sl 18 Bile asl 8,
12 A drd s uReHE Yol sdi 12 Bilse @l 9. Q120 5 oid 215 o AHA, s o [Bigil,
s o (Rl wRaHa sald WRe 52 8, dl sedl [lHe ole oid $3] wicilblg ur @lou Ay ?
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C.E. is an abbreviation for Common Era
B.C.E. is an abbreviation for Before Common Era
C.E. and B.C.E. are used in exactly the same way as AD and BC.

17




